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AHeA {t= ot Zt= St aH(RFR) 122.2 66.7 33.3
XA Zdcyst 4 G2 (X)) 83.3 33.3 25
XA | BEZSCHst SHa8= 2R HH) - - 80
N St st HEetdsstt 44.4 18.8 118.8
N St st HEs<tsE 40.0 333 933
XA StCHst A=t (RHH) 133.3 141.7 141.7
AHeA SatCist 7| ASStE 87.9 107.3 158.5
N StCHEt EASEat 53.8 125.0 58.3
N Satcist 0| 2 Xt= XSt at 282.4 220.0 273.3
N SatC st =il 135.7 100.0 92.9
N Satcist MES St 150.0 330.0 480
N St st pAT SR 112.2 105.0 151.3
At StCHst 0| A4 x| ==kt 222.2 455.6 466.7
AHeA StCHEt HAg It 16.7 54.5 100
N StCHEt 77|ttt 87.5 112.5 85.7
XA SAtCist e ™AISSHE 135.3 2204 295.7
N Satcjst a2t d S st 62.5 125.0 150
N St st 7| xSt 82.6 63.6 204.5
N St st HAIOIEHATZEQOEE 127.9 175.6 3024
XA StChst =l gyl 116.0 116.7 290.9
AHeA AHERHCHS} w1} 400.0 400.0 366.7
X | dztatstrlst A1 5 G st k(X ) 54.5 33.3 25
XA | Mztatstofst | ALY = C| KISk ah(RFA) 60.0 40.0 -
A | Mztatstoyst o| F ot uh(X}H) 60.0 25.0 150
N o| st ©| 0| 1 153.1 177.4 186.1
XtA | Kb apstCist =2/t 69.2 184.6 175
XtA | Kb opstCist A & p sk af 175.0 100.0 221.4
X | XA atskCjst st 191.7 225.0 166.7
Xt | ApAapstoyst o}t i} 133.3 106.7 933
XtH | Oj2fAtshe Cf| O E{ AFO| 21 A =f 1t - - 185
Mes | o=HsChs A XA} 333 55.6 22.2
Hs | o=AMsoist K=<t 20.0 - 100

X SHE0|ER

- DI CHH| EJKSH = 0190 HISS olo|gtL|Ch ook REQIL 10BQl Stuto|M 270l 5

QO YAMBIQICHH Bi Stnto| AL 50% LIt
F90g0| "atn Y7| B STt SHETo| TS MUSIACIH BAS 0% I, =IHEZHAM0| EXYSHX|

BRCE 20| L.

S A



